LATIN SQUARE DESIGN-EXAMPLE

Example: Two varieties of sorghum compared at two levels of N.

Table 1. Field Layout

Column
Row 1 2 3 4 |
1 C A B D |
2 A C D B | Fertility
3 B D A C |
4 D B C A \%
______________________________________________________________________ >
Wind
Table 2. Row and Column Totals-grain Yd (kg/ha)
Column
Row 1 2 3 4 Row Totals
1 5.76 3.85 6.30 6.4 22.31
2 2.60 6.43 511 5.68 19.82
3 6.02 6.94 3.15 5.92 22.03
4 5.39 5.26 5.62 2.90 19.17
Col Tota 19.77 2248 20.18 20.90 83.33



Table3. Treatment Totals
Grain Yield (kg/ha)

A B C D
Row VINO VINIOO V2NO V2N100 Row Totals
1 3.85 6.30 5.76 6.40 2231
2 2.6 5.68 6.43 511 19.82
3 3.15 6.02 5.92 6.94 22.03
4 2.90 5.26 5.62 5.39 10.17
Trt Totals 12.50 23.26 23.73 23.84 83.33
Trt Means 3.13 5.82 5.93 5.96 521

Table4. 2 x 2 Table of Treatment Totals

Varieties
N Trt V1 V2 N Tot N Means
NO 12.50 23.73 36.23 453

N 100 23.26 23.84 47.10 5.89
V Totals 35.76 47.57 83.33
V Means 4.47 5.95
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